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VERS| ON:  COR30x2 LTAl.10 DAS1.10 HSTO03
OBS_MODE: | NDI AN_POLAR CORR_HOST: GSB  BASELINES: 420  CHANNELS: 512

SCN OBJECT RA( MEAN) DEC( MEAN) DATE | ST RF(Miz) ONKkHz)  Nrecs
0 3C286 13h32n00. 63 +30d24’ 43. 98" 26/ Nov/ 2018 11:17:46 591.00 65.104 101
SCN OBJECT LOL(130) LOL(175) LO4(130) LO4(175) RF(130) RF(175) OW Nrecs
MHz MHz MHz MHz MHz MHz kHz
0 3C286 540.000 540.000 149.000 156.000 591.000 591.000 65.10 101

ANT C00 CO1 C02 C03 C04 Q05 CO06 CO8 C09 C10 Cl1 Ci12 C13 Cl4 EO2 EO3 EO4 EO5 EO6 SO1 S02 SO3 S04 S06 W1 W2 W3 W4 W5 W6 ANT 130P 175P
(6 0] T s o A = S = = N o S o S S e T e = s o A = S T SR S S S S 0 [0 I S
(o0 A T S S I T A i e A e S = S S S @ 0 R
(6 0 A s = o A = S = = S S 2o S o S S o S R e A = T = A = S S S S S S © 0 A
Q03 ++ ++ ++ ++ 53 ++ 52 56 52 ++ ++ ++ ++ 1 56 55 53 37 51 ++ 48 52 48 45 ++ 59 56 56 52 42 Q03 343 347
04 ++ ++ ++ 52 ++ ++ 53 62 52 ++ ++ ++ ++ 3 58 56 58 39 58 ++ 48 55 53 44 ++ 59 56 65 56 45 04 354 393
Q05 ++ ++ ++ H+ A+ A+ A+ A A A A+ 4+ HE 4+ 4+ ++ Q05 4+ ++

2 56 56 57 39 55 ++ 49 51 50 47 ++ 60 56 58 57 41 C06 304 335
08 ++ ++ ++ 52 56 ++ 54 ++ 64 ++ ++ ++ ++ 3 66 56 62 41 61 ++ 48 56 53 51 ++ 62 59 67 62 43 C08 404 324

1 58 57 55 40 53 ++ 50 47 50 53 ++ 57 59 61 59 42 C09 443 265
Cl0 ++ ++ ++ ++ ++ ++ A+ ++ A+ o+ A+ A A A+ 4+ H+ 4+ 4+ ++ CI0 4+ ++
Cll ++ ++ ++ ++ 4+ ++ 4+ o+ HE 4+ HE 4+ 4+ 4+ 4+ 4+ ++ CLL 4+
Cl2 ++ ++ ++ ++ ++ ++ ++  ++ A+ A A A A+ 4+ HE 4+ 4+ ++ Cl2 4+
Cl3 ++ ++ ++ ++ ++  ++ 4+ 4+ 4+ 4+ A+ 4+ 4+ 4+ 4+ ++ CL3 4+
2 4 3 5 2 + 1 4 3 0 ++ 1 1 4 1 3Cl4 311 319
++ 57 60 42 58 ++ 53 49 49 50 ++ 62 54 62 57 43 E02 329 359
56 ++ 50 40 55 ++ 50 51 53 46 ++ 58 54 58 54 39 EO3 320 346
59 58 ++ 43 59 ++ 50 50 52 49 ++ 55 54 61 57 40 EO0O4 307 403
51 51 57 ++ 48 ++ 37 38 34 32 ++ 38 38 39 37 23 EO5 403 283
56 58 63 59 ++ ++ 50 52 50 41 ++ 58 56 59 51 37 EO06 446 310
++ o+ A A+ A+ A+ ++ ++ S0 4+
51 53 53 47 54 ++ ++ 41 46 39 ++ 53 52 54 50 35 S02 276 261
56 56 58 46 56 ++ 48 ++ 46 44 ++ 58 54 57 55 38 S03 325 164
48 49 49 38 45 ++ 43 44 ++ 41 ++ 49 52 52 53 39 S04 350 361
53 52 51 42 47 ++ 45 47 41 ++ ++ 50 49 52 48 38 S06 306 318
B A s T A = T o A = S S T S SR S V1') R e
56 57 60 51 52 ++ 54 55 47 51 ++ ++ 58 67 63 46 W2 336 293
53 57 57 49 54 ++ 55 54 46 51 ++ 54 ++ 61 58 40 W3 351 322

S01 ++ ++ ++ ++  ++ H+ 4

W1 ++ ++ ++ ++ ++ ++ ++ ++  ++  ++ ++ ++ ++ +



